Das Einsdurcheins mit 17 uben [1]

Zum grofien Einmaleins

Aufgabe 1

1.102:17 = (O O 6 O 1 2
2. 3 :13= O P O v O 9 O 2
o cr= OV O 3 O 4 O 8
4068 :17= (O 10 O 4 O 1O 9
5. 13:17= O 9 O 6 O 2 O 7
6 1= O 0O 1 O 9 O 8
715317 = (O 9 & 8 ) 10 ) 3
Aufgabe 2

osta1r= O 3 O 9 O 2 O f
2. 1917 = () 6 o7 o 8 () 10
3. 170:17= (O 9 O 4 () 10 3
4. 34 :17= O 9 o 5 O 1 2
5. 51 :17= (O 2 o7 O 1 3
6. 51 :17= () 2 o3 6 ) 4
717017 () 6 () 8 () 3 () 10
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Das Einsdurcheins mit 17 tben [1] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1
1102:17= (O 5 O 1]/0 2
0 3% 7= O 7T O 1 O 9 @
3. 17:17=‘I] o3 O 4 o 8
4. 68 ;17 = () 10 o 1]//0 °
5. 153;17= o ¢, O 2 O 7
6. 17 17 = () 10 @ o9 ) 8
o100 ()3

Aufgabe 2

7. 153;17= ) 8

1. 51 ;17 = o9 O 2 0O 1
2. 119 :17= () 6 ‘Z] ) 8 () 10
3. 170:17= O 9 (O 4 O 3
4034 :17= O 9 O 5 O 1 ® ?
5. 51 :17= O 2 O O 1 ® 3
6. 51 :17= () 2 O 6 O 4
717017 = () 6 8 3
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